
Lecture 22

Classical Hirzebruch- Riemann- Rock them :

KCX)# A•lX)☒ chalk D) = exp (D)
= 1+13-1¥ -1¥ + - - -

✗ f a / Sxt) . -1daL, via 1÷x
z- E

(hard to work with ! )

Thm_ 5 : KCXE )→ A-•CXE)

✗¥
=

↳ f) • Chat . . - +an )

pt) KEY : KT→ A:[Flattest] A:(pt) = Sym
• Chart)

Ti 1-7 Itti

=0 mod ( 1-¥. ) ⇐ =-D mod (Ti - Tj )
I
ti -tj

Prop_①510¥D-pimp] = clean
,

- 1) = ¥0 cilsm) 1-Di
deism

E. SINA.im/ui--cu+1jEtrc(Ani,uY--)

② J[Old] = it , 5101ps] = HB , 5[Ochs 1) = ¥
11

Dconvceilies)

N.B._ Owe the structure sheaf of WL= V51)→ XE for Sze HEIL) .

- . -→Nai → Qi→QE→ Own→ 0

⇒ 5[Own] = GETRLQL) = [Win]



Recall : Schubert matroids

con-TICS.chMatn )→ IT (EE )→ KCXE) seq . of isom.

(⇒ topless Sch
. mat. form a basis)

.

Eof [Thm 11.3
,
Postnikov '09]

Let [Dp]=(yEHhE+Iyshs .

y SEE

Then 7- ( Volcpy)) = # I Pyn In /
I :g÷t> 4+1-1)

Cor_ [Cameron-Fink / 18] and [Fink- Speyer / 12] .

Defy For E vec . bdl on X
,

let PHE) := Proj Sym
. Er
,
and let

h=a(OUD for the OCD on P×(E) . Let it :#(E)→× .

E→ For 5 ↳ EN
,
the OCD on P×(5) gives the map ☒ (5)→ RT!

1×1 Cx,J)1→ T.

Detn_ The ith- Segre class of E is si(E) = T↳(hrkkH+i ) c- ATX) .

Pmp_ The total Segre class s(E) = Its, (E)+ sale) -1 - - - satisfy
s(E) DE) = 1 in A-

• (X) .

NI A•lP×(d) = A•(✗)[h]✗hr+hrtc
, (e)+ -

-
- + CRCE)>

1=-12*(4^-1) = TL*# CLE))=I*(Fn) . c. (E) = s (E)CCE)


